FEEF 100m R 248

[148] ( +2.7 m) [248] ( +2.9 m)
10 5] 271k g 3 (FrRHP-5E)11.26 1[0 3] 467k & A 7t 3 (RABET-%E)11.51
2[ 8] 58775 % & Ay 2 (IlgfrET %%)11.35 20 4] 615 H K2 @r59-%HE)11.74
3[ 9] 592= F K Zn3 (IlgmmEs %E)11.57 3[ 8] 588%E i Ay 2 (g %E)11.78
47 1] 329%F [ 3 (FRHRF%%E)11.58 A[ 6] 3279 % 43 (FRHZP-HE)11.91
5[ 3] 50fEx K A3 (FAERED %E)11.63 50 9] 54600 ik K M3 (RERS-HE)11.92
6[ 2] 987k M 5 BE3 (BloonP]TH4%)11. 66 6[ 7] 328" AF E — 3 (#EH2W-5%)12.06
70 4] 3624 H U %2 (RKEMET-%E)11.96 70 1] 3548 A& ik = 2 (KERH-5E)12.26
8[ 7] 353 P EH FH 3 (KEMT-H%)12.19 8[ 2] 35142 (L & E 3 (KERT -#%%)12. 51
9[ 6] 3521 & & & 3 (KEMF-#%)12.35 [ 5] 4064 {5 fh 3 (RE0ATED %) Ri5
[3%8] ( +1.9 m) [4%8] ( +3.6 m)
10 5] 5797 HH Kl 2 BA=f-%%)11.93 10 5] 12585 K /A 2 (HEF-5E)11.97
2[ 2] 922% 0 K EE3 (EAHT-HE)12.02 2[ 4] 589% W a3 (IgkmEf-#%)12. 11
3[ 1] 6752 B  |E3 @EF—1-5%)12.02 3L 9] 3T1/E H 3k 2 (B - ¥ £)12.13
A0 8] B8=1JH A &3 EHrEP-HE)12.08 AL 7] 3f&E B B R 2 (RAELAT-HE)12.18
41 4] 591)11 g A% 2 3 (IlghmEs 5%)12. 08 50 6] 68177 . A3 (EFE—P-H%)12.31
6[ 6] 7183 {EJrS (e —-HE)12. 17 6 2] 70158 = W 13 (EHEP-5E)12.49
70 7] 593a8 B F K3 (LEEYT-5%)12.24 70 8] 1274 W & HE2 (GB)IF-HE)12.69
8[ 9] 529uh (I BB th 3 (B -8E)12. 27 [ 1] 756/ Ak 3k 1A 3 (RAERT-5E) Ri5H
9[ 3] 685 HIfY BEARR 3 UTHF-H£)13.17 [ 3] 73648 & i K3 OMNIEF-HE) Ri5
[54H]) ( +1.1 m) [6%H] ( +1.2 m)
1[ 8] 348PUJ5m By 2 ()l £5%)12.10 10 3] 49t & Hﬁ W 2 (RAIERET 5%)12. 52
20 7] 53374 W PrA 2 (B -HE)12.19 2[ 4] M2 Z2 8 2 (RrEH - ¥ E) 12,69
3[ 6] 65H 1 &2 By EP-HE)12.25 3L 6] 434+ 52013 (RRERET 5HE)12. 69
40 4] 5348l R E2 (B -5E)12. 51 AL 7] 56 IR R E3 @y EBR-5HE)12.76
50 1] 5974 18 &2 Jr 3 (LEAF-#%)12. 51 5[ 5] 454<F % ZH g2 CRPAET 5%)12.78
6[ 2] 594 &5 0 & 3 (LEAT-#%E)12. 84 6[ 8] 4513 &  IF 2 CRFf=d-4+%)12.89
70 9] 6870 22 [k 2 ((THP -5 %) 12.89 7091 427 i o K 2 (RAWEET-5%E)12.92
8[ 3] 12655 7. 23 (W)IIH-#E)13.05 8[ 2] 81/ R ﬁé?‘ﬁz (Ehas-5%)13. 21
[ 5] 402 | % K2 (BRROE—H5%F) RiG 9 1] 734m%s BHHAT 3 OMIHEF-£E)13. 23
[7#8] ( +1.2 m) [8%8] ( +4.0 m)
104 NMEXRXK #£ A3 AEP-HE)12. 11 1[ 2] 6004 H 43 (EEAEH-5E)12.80
20 7] 678/A £ #h K2 (HEF—H5%)12.76 20 6] M7 H Hith 2 @eE—P-#5%)12. 84
3[ 5] T3BHH FEZIT 3 UMIHEF-#E)12. 91 3[ 5] 324 JR & 2 (BAELAT-%%)12. 91
40 6] T37T&E  #4r 3 OMIDEH-#HE)12. 94 A0 7] 1M R PR A2 (RRIERET%%)12. 93
5[ 3] 627F /K Bﬁﬁﬁz (B B 55%)13.02 5[0 4] 6774 + =& 42 (#&EF 1 45%)12.95
6[ 9] 6034 & 1 }2 (LEEF-#%)13.06 6 3] 582 HH A 12 (EA-ZRH-5E)12.99
[ 2] 9219% H F& A 3 (BAET-HE) RiG 70 9] 1005 #k B dfi 1 (BloonP]T5%)13. 03
[ 8] 470 H & nf 2 (FRIEED 5 KI5 8[ 8] 679H% (LI & HE2 (FEF—H%%)13.10
[9#8) (  +1.4 m) [10#2) (.  +1.7 m)

10 6] 336— B4 & @l 2 (RJImih-5%)12. 98 10 9] 5519/ JF % ffz 2 CRERUP-#%)13. 30
20 4] 343%rH: HARR 2 (#1155 E)13. 04 2[ 6] 268k K HE 2 (£ 1) 13. 45

3[ 3] 2694L A K Fn2 (v -#E)13.17 3[ 7] 6H F K2 (AEH-HE)13.56
40 7] 540\ A ZEHEH 2 (REART-HE)13. 41 4[ 4] 33780 H ME A2 (BIMT-5%)13. 68
50 5] 7024 1N & F 3 (BPHH-2E)13. 54 5[ 3] 543)1l #is B 32 (REHT-#%)13. 83
6[ 9] 625%F K & th 2 (BEALATH£)13.56 6 8] b4287 1 &% B 2 (KR -#%)13.86
7[ 8] 55047 J&Jrz (RFERH-£%)13. 80 70 2] 1015 &K Ik 2 (BloonP]TH4E)14.08

8[ 2] 554k 2 K B3 (EBrBEH-5E)14.04 [ 5] 993F K BiA1 (BloonP]THEL) KI5
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1L 8]
2[ 5]
3[ 9]
41 2]
5[ 6]
[ 3]
[ 4]
[ 7]

4N AN
e 4

1 27178 Wi
2 587k Ay 2 (B -BE)11.
3 467k K fh o3 (ERIERT -5 E)11.51
4 592= F K3 (lEmeEs-sE) 11,
3298 [
501 2 K -3 (FRERT 5HE) 11,
98 7% H
271/ B A E3 (FEs e HE)11.72

0 N oo o1

BF
[148]
1[ 4]
2[ 1]
3[ 5]
41 9]
5[ 8]
6[ 2]
[ 3]
[ 6]
[ 7]
[3#8]
1[ 2]
2[ 5]
3[ 1]
41 3]
5[ 7]
6[ 8]
7[ 6]
[ 4]
[ 9]
[548]
10 7]
2[ 4]
3[ 6]
41 2]
[ 1]
[ 3]
[ 5]
[ 8]
[ 9]

+3.7 m)
549 B 3 me 2 (KR H-5£)13.65
83 JE 2 3 2 (WALIDT5%%)13.90
562)11 B FE K 2 CKEH®-%%)14.05
626555 ISTER 1 (BEARAT5E) 14,12
84KE (LI JBL th 2 (WELILT 5%E)14. 62
553%% R 55 2 (KERT-HE) RiG
46 1 R B2 (I E) Ri5
MR R IR E 2 ()T ) Ri5

26
35

+

P53 (AT IR - g ) 11.

+ +

57
58
63
66

+

ff 3 (FREAZT-HE) 1.

+ +

FiFE3 BloomP]THHE)11.

+

10 0m R (2448

( +1.9 m)

18175 B Ot Sk 4 (KEUULK-#%%)10. 44
153'% M2 & 1 3 (R - # £)10.52
19657 46 B 1 ik T4) 10. 55
103 7T 75 A8 (B95K-1£/5)10.55
180+ & BE4 (KEULA-IH#E) 10. 64
5040 JEU 4 1 (K- EIE) 10,76
62975 gk FHE (JAWS -HE) Ri5
38X H E 1 GHEK-B ) RiF
1820 N B A= 4 ik o)l &5
(  -1.7

m)
3751 kF

m)
FE K 3 (oK K%)10. 77
N1 G k- ##0i) 10. 89
¥ (BERTF-EE)10.94
£ 1 EEHAKR-FE) 11,07
A ETRHE) RS
it K1 (RIESUER B R 35
HE R 3 R K - ) Ri5
BN (ERTF HE) XI5
% 3k 3 (REOUER -5 E) R35

B5 # 4 GR¥EEKR- K ¥)10. 86
19548 A A= 1 CRiouek-#%00) 10. 96
392 WE  Mh oA CEERA-EE)I 1
19448 A 4% sk 1 CRiEfek-%48) 11,13
29072+ HEE 1 (BRiAK-WE)11.14
279 = i K L4 EBWEKER)11.23
50808 57 K — 1 GffE K- &4 11. 40
6305 A K E  (JAWS-BE)RIG

S1TEH fERER 3 BAEk =8 Ri%

( +1.9

4974 74

51674 1%

850 K A

282 7 g

113K 4%

200 T #f

THRE 1

851/ &

1834 H

+
S E R CR CR RN
~N N N N O

(1248] (

1[ 4]
2[ 8]
3[ 9]
4[ 2]
5[ 5]
6 6]

[ 3]

[ 7]

[24]
10 3]
20 1]
30 8]
47 6]
5[ 5]
6l 4]
70 7]
8[ 2]
[ 9]
[44]
10 6]
27 9]
30 3]
47 4]
5[ 8]
60 7]
70 5]
8l 1]
9l 2]

(678]
1[ 8]
2[ 6]
3[ 7]
4[ 5]
5[ 9]
[ 1]
[ 2]
[ 3]
[ 4]

+1.7 m)
N1 H HES @FEs o HE)11.72
M5 PR K 2 (- B E) 11, 82
MA/NG A GESR 2 (T -#%)13. 04
431/ AR K2 (FfEs e 5E)13.42
667% 0 A2 (ByrEH-5E)14.03
733 i B Ik 3 ONIEH-5E) 14.50
129N TEERR 2 (FEs: o k) Ri5
3497 HE 2 (Pl -5 E) R

(  -0.2
3175
190 E
310/ 4k
506K ¥k

m)

2 CGREER- H1)10. 74
& 2 (Ride k- B0 10. 77
K1 s k-A)I)10. 78
v 1 G k- 12810, 79
3863k & B5 o 1 CRPEKR- &3k 10. 80
185/ Bp ¢ 1 3 (KHbk-#x) 10. 84
1994t w2 g 1 RIS K- 46) 10. 92
19848 M B J 1 (KHEULk-#%%) 11. 07
188 M #E =F 2 (KEULK-#F) Ri5
( +0.9 m)

1772 8 ¥ A (ASAP-#%%)10.90
27TAIA Yr¥2)7 1 (BBH K- 5) 10. 93
29252 (L HEFH 1 (BERAK-5)10. 96
700% B H 4 (AR LAD 11,03
1979 Ik 1 Kb k-£%) 1. 07
4787% & B (UNITE-%%)11.09
/A FZIr2 (IS HE)11.12
191 1 A & 2 bk ki) 11. 20
S81F M 78 K2 CRYPEK-§h) 11,25
( +1.0 m)

1931 2 A LLis 2 (REUEL-F4) 10. 85
MARWR AN (BE5K-#5)10. 95
178+ J5 @ (ASAP-HE)11.17
14288 & fE V2 2 GRERB- LK) 11.19
512)11 A ¢ M 1 (kv K- #18) 11. 61
i e Bk ME7PR-#HE RS
1%k & BE4 BEFAKR-TIA) Ri5
70578 Jif A& ik 3 GRKBL- 5U#h) Ri5
706 K VE 5% #h 2 CROKRRE- BR) Ri5



(78]
1[ 5]
2[ 8]
3[ 6]
41 7]
5[0 4]
6[ 1]
[ 2]
[ 3]

[948]
1[ 6]
2[ 7]
3[ 2]
41 3]
5[ 4]
6[ 9]
6[ 1]
8[ 8]
9[ 5]

(1148] (

10 7]
2[ 2]
3[ 8]
47 1]
5[ 6]
6[ 9]
7[ 5]

[ 3]

[ 4]

(13#8] (

1[0 1]
2[ 4]
3[ 9]
4[ 6]
5[ 8]
6[ 5]
70 3]
[ 2]
[ 7]

(1548] (

1[ 7]
2[ 3]
3[ 4]
41 1]
50 9]
6[ 5]
70 2]
8[ 8]
[ 6]

( -1.1 m)

22738 Bt & (BEKTF-REE)10.87
69175 ¥ A 2 (AR K-5%)11.00
2855 - & b 3 (BAEK-#E)11.03
20447 i K B 1 (BEAK-HA)11.23
3084F = #hiME 3 (BBWH KRS 11,35
2754 M BE &1 BWTH K- K2)11.51
SITEEA BEAHR 1 G K- Is B) R 35
70888 H % 1 GRKRE- BN Ri5

( +2.4 m)
184/ /6 E 3 (REULk-Hié) 10. 77
405Kk 2+ (urinedilete®8)) 10. 94
186 = #d 5 KBH 3 (RIUUE K- &%) 10. 96
8381 BE gt th 2 (CEEK-T#)10.99
494K B wA BE 3 Omir k- JeiEE) 11. 02
8324k M B4 CEEK-#E)11.08
189R8 1 1 K 2 (Riufbk-%%)11. 08
513hE A 5 22 1 ORvER-%%)11.30
6074 & 5L BE3 (KERE-HE)11.42
+1.4 m)
4887 i TH 4 GRVEK-##)10. 73
492Kk B A3 GREK-BH)11.19
475/ AR BB R (HERACHE)11.23
97 & == K (BloomP]T5E)11.33
5108 )11 s /E 1 GRE K- %) 11. 38
898 5 ¥ 1 (RERE-HE)11.49
8867t K 2 (KEHA-HE)11.52
1454 HE /I 1 (R -5 F) Rim
0211 & — ¥ (BloomPJT &%) RiIB
+2.0 m)
3934w M i B (EFHK-EHE)T1.23
340/ NSRBI (ERELHZE5T)11. 36
1360t #L Fj A 1 (REF—f-5%)11. 38
187/ 3 B 3 (KUK -R¥)11.45
7589 10 E 3 RA—E-HE)11.50
903 H & 3 (KEE % %)11.54
5733 1E Bt A= (CARPSTREANERSHE) 11. 65
88045 A 8 K1 REREYK G XI5
TR A1 (-5 E) RIS
+2.0 m)
U2 (KE#E-%%)11.58
FE S (BEKTFE-#E)11.66
=P 3 (ERE-HE)11.67
BE3 (- B k) 11,67
4 EEPR-#E5)11.69
£ 53 RERE-HE)11.73
& HE 1 CEER-#HA)11. 86
KA 3 (MAERE-E%)12. 65
Bi 2 2 ()1 - 55 F) Ri5

883111 1
849 %
243 [ tf
639 1
112/R H
608 N
8407% &
438 7% 1
79522

(8#H)
1[ 4]
20 1]
3[ 2]
41 3]
5[ 5]
6 9]
70 6]
8[ 7]
[ 8]

( +1.8 m)

15/h R A (BFKR-#E5)10.76
436 K B 5 o 1 GREERE:- 50 10. 79
1921 & K B& 2 CRIOUbk-%%)10. 91
13 H & k21 BWAK-EH)11.01
5207% BT B N 2 (RETEAR-%%)11.06
124 N ok B 1 (BEFAK- &) 11.18
e & ot — EFK-BEE11.23
866k I K& 3 (WIAR-%%E)11.35
634 % K3 (ERE -5 £) Rix

(1048] (  +2.5 m)

1[ 3]
2[ 5]
3[ 8]
4 9]
5[ 4]
6 6]
70 1]

[ 2]

[ 7]

(1248] (

1[ 3]
2[ 4]
3[ 2]
41 7]
5[ 9]
[ 1]
[ 5]
[ 6]
[ 8]

[14#8] (

10 7]
2[ 8]
3[ 2]
4[ 5]
5[ 9]
6 1]
10 4]
[ 3]
[ 6]

(1648] (

1[ 5]
2[ 3]
3[ 6]
41 2]
5[ 4]
6[ 9]
70 1]
8[ 7]
9[ 8]

847,
853 ## (LI
16440 1%
394
289 |- #t
298 (F+ 3K
84415

#h k2 CEEK-#£55)10. 93
W R (BEARTF-EEE)10.95
2 (-5 E) 11,15
BEA]  (EERAHE).17
=1 BB A EE)11.19
W1 BBA K RE) 11,29
YLES 1 CEEK-#%)11. 51
4804Fk B B4 FERKHE) RS
63374 M3 ERE- -5 F)RIG
+1.9 m)
395 & ¥ b (EERK-5E)10. 96
568/)N JR % & 2 (EBRFRE-HE)11.24
5577 K %% 3 (ARRLE-HE) 11,27
76955 A % k3 (B E -5 E)11.30
1045 )11 f@ 5L 3 (B K-RERE)11.67
657 A & 3 CHAE—F - E) KRG
6401 H  BE B 3 (ERE -5 F) Ri5
4TER A P K2 BFEK-#E) RIS
64975 i K FHl 2 (R -5 F) Ri5
+0.9 m)
121 #oR1 RE&E-WE
162/ H k2 REE-HE
9% (L & — (TRAINIFiA)11.66
8524F =& (BEKTF-FEE)11.72
905 £ 3 (KEE-HE)11.75
0% H B (SetechACHED 11,82
8844 £ U K2 (KEH& HTE)11.94
63815 fir B 13 EAH-BE) R5
323 E M JH# (Ash-&fE) KRG
+3.6 m)
364 11 E

N — — — —

11.44
11.59

~ N N

CRIER[ -5 %) 11. 36
5611 kw2 (WARRE-HE)11. 42
38T ZE—RF  GRIEKI-HA) 11,53
9014 == & 2 (RKEm-&E)11.54
790 555 AF CRF AR 3 (i)l - B ) 11. 65
2429 I HE 5 3 (R -RiE)11.65
6651 % A LA 3 (RAE - Hi£)11.80

9548 K F K (BloomPJT-4E)11. 81
904~ & W — 3 (KEm-#E)11.88



[1748] (
8007 Af ML A 2 (ff)IIE - B ) 1.
1981 & B2 EA—m-5E) 11,
728 )@ BEURER 2 GEBEES B E)11.
Ik 3 A —Fm-HE) 11,
46677 N K B 3 (MNEBE-HE) 1.
¥ A2 (KEd-5E) 11,
T94F9 W5 R (A 3 Gi)li& -5 E) 11,
WE 3 (i)l E) 11,
4228 Mg =2 SF 4 (BRCR-REB) 12,

(1948] (

1[ 3]
2[ 7]
3[ 4]
41 6]
5[0 1]
6[ 2]
70 5]
8[ 9]
9[ 8]

1[ 8]
2[ 4]
3[ 2]
41 6]
5[ 9]
6[ 7]
7[ 5]

[ 3]

(2148] (

10 7]
2[ 5]
3[ 6]
4 3]
5[ 4]
6[ 2]
70 8]
8[ 9]

(23#8] (

1[ 4]
2[ 7]
3[ 6]
41 9]
5[ 2]
[ 5]
[ 8]

op

O d O Ol Wi —

18175 i
153 & 1%
196 5

1103 T
180 1
4887
3715
5044 Jit

+0. 8

m)

T4 B
900 {F Ji&

18941 17

+0. 7
25 [ 5B
6485
5621 f& g N 2 (RRRE-HE)12
96 A& B E  GBloomP|T5E)12
401 H XK (TYPE-R&E)12
5554 1 fE & 3 (RRRE-FE) 12
046 H K GaERE#H-mE12
67145 &5 AL Fn3 (GILm-HE) R
+0.3 m)

18 H g
139/ )11
24 J£\ [H]
10578 i
76 X fig
22587 A
ARERE-
122 5. )1
+0. 2
1613 H
176/)N K
86911 W
899 &
4001~ By
616/)N Ak
8151% ik

m)

1 K

m)

1E 4

iH fE
%
Ji

e M2 OR¥EKR-

i A 2 (R HE)11.
2 (AR,

K 3 OB R - f 5) 11.
5 31 (REF /5 ) 12,
5o 2 (IR HE)12.
B R 3 (e HES) 12,
H o\ 2 (GRE—m- &%) 12.
£ R 2 (REEXER-HE)12.
kB2 (RARER 5 12.
G ERERH-mE)12.

2 (KE -5 E) 12,
H a2 (I8R5 ) 12,

=1 (RIKaHE-F5)13.
g2 REm-HE)13.
(ASAP-#%)13.
98 2 (RERE 5B E) Ri5

B 3 (REREBR #E) Rim

69
80
86
93
94
96
97
97
14

87
99
.06
.23
.45
.48
.52

5

91
11
20
24
35
40
65
88

12
13
11
14
48

ok 4 CRIUER -5 %) 10. 44 +1.
w3 (P & - 55 £)10.52 +1.
i BB 1 CRECUER T5)10. 55 +1.
(B9 52 K - #£55)10.55 +1.
B& 4 ORROUER- dipE) 10. 64 +1.
4 (v oK - w5 ) 10,73 +1.
B54R)10.74 -0.2
1 Gl 7g K- = iIRp) 10,76 +1.9

O O © © ©o

[18#8] (

1[ 6]
21 9]
3[ 3]
41 4]
5[0 2]
6 5]

[ 7]

[ 8]

(2048] (

10 7]
2[ 4]
3[ 3]
4[ 8]
5[ 2]
6[ 9]
7[ 6]
[ 5]

[(22#8] (

10 9]
2[ 7]
3[ 4]
4[ 5]
5[ 2]
6L 8]
70 3]

[ 6]

[24#8] (

107]
2[ 4]
3[ 8]
4 6]
5[ 5]
6[ 3]
70 9]
8[ 2]

+2.3 m)

15438 &5 B oh3 (ReEm-5E)11.86
658 7% o 2 3 (WAE—F-5£)11.90
274748 1 FE 471 BiAELA - HR) 11,97
6117 Bk K F5 2 (RERAE-#£)11.99
246 5 A 1 KER 2 (LR -5 $)12.10
88545 M fE K1 (REHHE -#E)12.14
15568 | Fi A7 3 (REs -5 £) Ri5
8823 Bt 1E o} 1 REREHK ) RiB

+2.1
565 1 {5
816 P4 O
4351 A
637K Ft A
138K 5 il
B4R &
%
K
m

m)

s (FERER-TE)11. 62
bi f&E 2 (REREHA-#E)11.77
EH GEER-HE11.79
[E REA -5 ) 11,92
5 AEF—#-%%E)11.93
KERESE 5%)11.93
Bloom PJT%%)11. 98
Bloom PJT &%) KI5

3
- H 1
i 3
93 ¥
907# &
-0.4 )

19 +E %43 (IfR& %% 11.97
668— £ FEH2 FELAE-HE)12.20
6724 (b JE 3 (BILE -5 E)12. 31
61447 N K4 2 (KERE &%) 12. 47
1350 % BRI 2 (REE -G 5%)12. 71
86642 (L H2 ik 1 (BIRARE-%E)12.87
391 HARE BAF 1 (REm-#%)12.93
82581 /X 2 (BREAE-HE)RiG
+2.4 m)
450 M Fn +
MTFE B Fn Ay
4497 31 R fHE

947 1 EHFE (BloomP|THE

274@ W — gk (B ERER-5E)12. 46
8081% I B >F 2 (Br&EFAA%%)12.50
807 #&  IE A 2 Br&EERAE5E)12.57
8133x M # 4 2 (ByRiERA4%)13.39

AN AN AN N N N

=N
u

— — — —

(UNITE &%
(UNITE-&H%
(UNITE-&H%

10. 77
11.19
11.30
11.40

— — — — — —



hEBET 20 0m R @A)

[1#8) (  +1.9 m) [2#42] (  +2.1 m)
1[ 5] 5988 ik ik 3 (LEMH-#%)23. 69 10 9] 9181 M 44 3¢ 3 CHAEREH-5%)24.70
2[ 9] 5803 ik 1% F2 (ER-RH-5E)24.78 2[ 5] 738RE & Py 2 OMIEF-#E)25. 14
3[ 8] 7268 AF PriF 2 (FR9P-£E)24.98 3L 6] 6760 )11 3L &= 3 (FEF—-H%%)25. 14
4[ 2] 6197v~y =) v/ 3 (BEERAT-5E)25. 11 A[ 4] 363%k ot 3k A 3 (KIEMH-5#T)26. 35
5[ 3] 4627 H AR 2 3 ()l HF-#E)25. 47 50 7] 750%7 1L B 2 (RAEET 5E)26. 56
6 4] 72255/ BAAAE 3 (G5 R -£%)25. 65 6[ 3] 370V Kf W 2 (KERT-%E)27. 14
[ 1] 723N B MEMR 2 (F R+ -5E) Ri5 70 2] 4441 m (=2 (ErBRET-5HE)27. 44
[ 6] 4285 H A &3 FHEs o HE)RG [ 8] 724 EE 2 (F AP -5 E) Ri5
[ 7] 4074 35 Hh ¥ 3 (HAORFET5HE) Ri5
[3#H] ( +3.0 m) [4%8] (  +1.9 m)
1[ 5] 463K #F 4 wk 3 (f)IHH -5 %) 26. 01 10 5] MM6& H e A3 (fee—+-%%)26. 73
2[ 6] 465FHEHA A K3 (W)IHF-#HE)26. 37 20 7] 1304+ MK E2 (F)IIF-¥E)28. 94
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